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� 1 ��.
�) ��� ������ � 
����	������� �	����� ���
	��  M(1;0), P(0;−4), S(−3;0), T(0;3). 
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   M(1;0), P(0;−4), S(−3;0), T(0;3) (2 �����).
!�������  14=TSPMS  c� 2  (3 �����).
�)!��	���� �� ���
	�� D(−4;8), E(8;8), F(−4;−4) (0,75 �����).
!��	���� �� 36=ABCDS  cm 2   (0,25 �����)

36== ACBEABEC SS  cm 2 (1 �����).
���.3 !������	 ���&����	�� �� 	����	�� # 	 $, 
�
�� ������: #= 8 (2,5�����), $ = 7 (2,5�����).

( )( ) 1289632332 )2(22 ===A (0,5 �����), 1233636 )7(7 ==B (0,5 �����).

����� �� ������������ �� # 32 	 $ 36 : 38 72 < � ( ) ( )123128 72 < ,�.�. # 32 < $ 36 (1 �����). 
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 (3 ������))..
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